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i IH T

& 7] 3 &t B = B &
IR E 12. 00
H— KL — L 12. 00
— YD
a2/ Y—F  gck=18N/mi 0. 21%22. 42 4.7
7l P JNFELRE ) 0. 94%22. 42 21. 1
1.0m34 Y
ar sV —b  gck=18N/mn’ (1/2% (0. 390+0. 548) *0. 450) *1. 0 0.21
i) P IINRUFETEY)

(0. 390+0. 548) *1. 0

0.94




i IH T

& B Bl REE it " = BfL B
1270y 7T 7.81+7. 81 m 15. 62
—H Y
EiESA =S4 ¥ % 35cm 1. 16%15. 62 m? 18. 1
HiAar s U—b g ck=18N/mn? 0. 12%15. 62 m? 1.9
HOAMES RC—40 0. 36%15. 62 m® 5.6
7= LA SD345 D16 0. 9%15. 62 kg 14. 1
1.Om¥%4 b 1:0. 350D #kEk=1. 059
EiFsi A= 2 2 35cm 1. 100%1. 059%1. 0 m? 1. 16
HiAar 7 U—b  gck=18N/mn’ 1/2% (1. 165+1. 236) *0. 10%1. 0 m’ 0.12
HiAhen RC-40 1/2% (1. 236+1. 131) %0. 30%1. 0 m’ 0.36
= LAG SD345 D16 0. 30%1. 56%1.0/0. 5 kg 0.9




i IH T

& B Bl REE &t " = BfL B
287 uy ZFET 6.8 m 6. 80
—: Y0
EifS A=/ & % 35¢cm 0. 32%6. 8 m? 2.2
HiAar 7 U—k g ck=18N/mm’ 0. 03%6. 8 m’ 0.2
HIANA RC-40 0. 08%6. 8 m° 0.5
=L SD345 D16 0. 9%6. 8 kg 6.1
1.0m34 Y 1:0. 208} E=1. 020
EiFsi A= 2 2 35cm 0. 315%1. 020%1. 0 m® 0.32
BiATL 20—k g ck=18N/mm’ 1/2% (0. 315+0. 328) %0. 10%1. 0 m’ 0. 03
HiAhen RC-40 1/2:% (0. 328+0. 226) *0. 30%1. 0 m’ 0. 08
=L SD345 D16 0. 30%1. 56%1. 0/0. 5 kg 0.9




i IH T

fi L

#H Bl At =) 2V HAL % &
15Ty o 7.81+7. 81 m 15. 62
—X% D
a7 U—bhk  gck=18N/mm’ 0. 07*15. 62 m® 1.1
i) P SN Y i) 0. 32%15. 62 m? 5.0
1.0m¥%4 Y
a7 V—h  ¢ck=18N/mn’ EAEZHA L Y m’ 0. 07
A fe NI (0. 1+0. 215) ¥1. 0 m®  0.32




i IH T

& il E 7t B = I &
2T e s 6.8 6. 80
—24 0
a7 U—bhk  gck=18N/mm’ 0. 05%6. 8 0.3
i) P /NRIREEY) 0. 27%6. 8 1.8
1.0m34 Y
a7 V—h  ¢ck=18N/mn’ TREEHR L v 0.05
i) P /N )

(0. 1+0. 168)*1. 0

0. 27




i IH T

& B Bl REE &t = = BfL B
a7 — b 7.81+7. 81 m 15. 62
—24 0
a7 U—hk | ock=18N/mm’ 0. 45%15. 62 m? 7.03
i P /TR Y ) 1. 35%15. 62 m? 21.09
g SD345 D13 13. 8%15. 62 kg 215. 6
1.0m34 Y

227 Y —h  gck=18N/mn’ 0. 75%0. 60%1. 0 m®  0.45
7 P JNELRE ) (0. 60+0. 75)*1. 0 m” 1.35
% W% SD345 D13 137/9.9 kg 13.8

N 8fM  45HA!  147. Okg/m  L=14. Om
EAE 9.8 m 9.8
JE K FEYE 28 e 28
JE K BIE 2 75'e 2
KINEE ENE 0. 147%14. 0%28 t 57.6
KINEE BIE 0. 147%14. 0%2 t 4.1
205y 30 e 30
AT Ty T HE 0. 147%3. 26%7+0. 147*1. 384%23 t 8.0

I R ARG Ve

R 30 5 30




Ul

& B Bl REE it B = BfL B
IR 24.9 m 24.9
— 40

a7 Y=k ¢ck=18N/mn’ 0. 26%24. 9 m’ 6.5

Fil P JNELREYE ) 3. 08%24. 9 m? 76. 7

= K C2-B300 (i H) 2%24. 9 e 49. 8
HOEE b RC-40 t=150 0. 70%24. 9 m? 17. 4
1.om4 Y h=620

a7 U—hk  gck=18N/mm’ 0. 600%0. 770-0. 440%0. 120-0. 300%0. 500 m° 0.26

i e /NI TEY) 0. 77%4 m? 3.08
= K C2-B300 (i H) 1.00/0. 50 e 2.0
HOEE b RC-40 t=150 0.70%1.0 m? 0. 70
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il VLI o R At 1 2V Hfr % &
T AT 7L Nk
aoEF PHE S e R AT P
i
—:4 Y
e FAEBRIEA s
t=4cm 71. 20 m’ 71.20
A )79¥%77 RC-40
t=10cm 71. 20 m’ 71.20




& B Bl RRE it B = BfL B
H—FRLr— it FE
R Gr—-C-2B 22.4 m 22.4




RS IUE L T

i) B Bl EEE it B = BAL OB
oy y—hEEEL EGRESY
T H— R — L 4,70 RE OB RS m’ 4,70
Tnry 7L 1. 10%1. 059% (0. 35+0. 10) *22. 40 m® 11. 74
PEAKHE T BERURAINE 6. 47 HEOHEFESZR m’ 6. 47
TV AT T Y 0. 18%0. 18*0. 45%6 m® 0.09
2 m? 23. 00
oy U—NEBEL SRTHEYEY
Gra ) — hk 0. 70%0. 50%22. 4 m’ 7.84
oy U—MEBEL BRTHEYEY
av 7 ) — MEIR 23 L=12. Om/#%, SF200H & #8E 4 % e 23
vV 0.250%12. 0%23 m® 69. 0
FAT 7L ML t=4cm 71.2  HHEAEIE L REE m> 71.2
V= 0. 04%71. 2 m? 2.85
AT t=dcm 3.0+3.0 m 6.0
R I R LB A ) m° 23. 00
RS m’ 7.84
av 7 ) — MNEIR m® 69. 00
R I R AL B Asi% m® 2.85




% T

i il bl il iz i H =Y AL # &=

JEE T

TR ESR

iR B SRR 3019. 8 m® | 3019.8

MHET
R 1. Om<W Y 685. 4 m° 685. 4
1LOm=W<4.0m = IKE 611.1 o 611.1
1L.Om=W<4.0m Bk 0 m 0.0
3 m’ | 1296.5

PR HALBE T

7 AL + w m° 500. 0
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filt il gl il ik it B 2V HAr %% &
R B T
Rk TEERIBI 2
—xXY Y
PRSH 25HM  113.0kg/m  1=11.0m
R RARBEL 63. 00 758 63.0
PEAER AR E & (11. 0%113. 0)*63/1000 t 78.3
FLI R 4.00 758 4.0
LS N & s (11. 0%113. 0)*4/1000 t 5.0
J AR JEAFKL=10. 5m
FEHAERAR 63.0 K 63
BTG R 4.0 58 4
PRI IV 76. 1kg/m  1=11.5m
RV RARBERL 26. 00 e 26.0
PEAE RN E & (11. 5%76. 1) ¥26/1000 t 22.8
JE AR JEAFKL=11. Om
FEHAERAR 26.0 K 26
514k & Bk FlH & KL=11. 0m
FEHAERAR 26.0 K 26
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W K A

PAGE

TR - FHB " = H B
(1) a7 VJ—F o ck=24N/mm2

JERR
V1 = 3.200 X 7.600 X 0.850 = 20.67
V2 = 1/2 X ( 0.500 + 2.925 ) X 1.400

X 6.000 = 14.39
V3= ( 16.800 X 15.000 — 2.900 X 3.700

X 0.850 = 205.08
S
V4 = 3.200 X 0.800 X 5.500 X 2 f&iT = 28.16
V5 = 16.800 X 0.800 X 5.000 = 67.20
V6 = 13.900 X 0.800 X 5.000 = 55.60
V7 = 2.900 X 0.800 X 5.500 = 12.76
JERE
V8 = 0.800 X 3.700 X 5.000 X 4 f&iT = 59.20
V9 = 0.800 X 6.000 X 5.500 = 26.40
bR RE
V10 = 0.500 X 3.700 X 5.000 X 7 f&iT = 64.75
TERR
Vil = 16.800 X 4.500 X 0.500 = 37.80
V12 = 13.900 X 4.500 X 0.500 = 31.28
TEJRBA D ¥ e b
V13=— x/4 X 1.80 X 1.850 X 0.500 = -10.75
Via=— /4 X 1.650 X 1.650 X 0.500 = -1.07

611.47 m3 611.5 m3

23



W K A

PAGE

TR - FHB " = H B

(2) TUp — AT
JERRA
Al = 3.200 X 2 X 0.850 5. 44
A2 = 16.800 X 2 X 0.850 28. 56
A3 = 15.000 X 2 X 0.850 25. 50
{HIBE S,
A4 = 3.200 X 5.500 X 2 fEpT 35. 20
A5 = 0.800 X 5.500 X 2 f&fT 8.80
A6 = 16.800 X 5.000 84. 00
AT = 13.900 X 5.000 69. 50
A8 = 2.900 X 5.500 15.95
TRIBEPN T
A9 = 3.200 X 5.500 X 2 fEfT 35. 20
AlO=— 1/2 X ( 0.500 + 2.925 ) X 1.400

X 2 f&T -4. 80

All= ( 2,700 X 8+ 2.400 ) X 5.000 120. 00
Al2 = 2.900 X 5.500 15.95
ZRESMA
Al13 = 3.700 X 5.000 X 4 f&HpT 74. 00
Al4 = 0.800 X 5.000 4. 00
Al5 = 6.000 X 1.400 8. 40
A16= ( 6.000 0.800 ) X 5.500 37. 40
FRENI
AlT = 3.700 X 5.000 X 4 fEfT 74. 00
Al8 = 0.800 X 5.000 X 3 fEfT 12. 00
Al19 = 6.000 X 5.500 33.00
bR RE
A20 = 3.700 X 5.000 X 14 f&5T 259. 00
A21 = 0.500 X 5.000 X 7 f&fT 17. 50
TERR T iE
A22 = 2.700 X 3.700 X 8 fEfT 79.92
A23 = 2.400 X 3.700 8.88
TERR T B O 2R
A24=— gx/4 X 1.850 X 1.850 X 8 f&fr -21. 50
A25=— gx/4 X 1.650 X 1.650 -2.14

24



WK 7K il

PAGE

R - 5 G = B &
TERR A i
A26= ( 16.800 + 13.900 ) X 0.500 15.35
A27 = 3.700 X 0.500 X 4 fHpT 7. 40
A28 = 0.800 X 0.500 0. 40
TR
A20= ( 16.800 — 0.800 ) X 0.500 8. 00
A30 = 13.900 X 0.500 6.95
it 1061.86 m2 1061.9 m2
M e
TERZBH 1 AR T
A3l = X 1.850 X 0.500 X 8 fHjif 23. 25
A32 = 7 X 1.650 X 0.500 2.59
it 25.84 m2 25.8  m2

25



Lp)'fUJq:g PAGE 26
R - A0 = = # &=
(3) A SD345
BAEER LY
D13 W= 6116 kg
( D13 6116 kg 6116 kg
D16 W= 618 kg
D19 W= 11847 kg
D22 W= 13648 kg
D25 W= 0 kg
ZW= 26113 kg
(' D16~D25 26113 kg 26113 kg
D29 W= 24953 kg
D32 W= 0 kg
W= 24953 kg
(' D29~D32 24953 kg 24953 kg




Lgﬁ 7J( *g PAGE 27

R - A H =X Bo&
4) ’&%L HERYS H=30m

AN (il
Al = 20.000 X 2 X 6.350 = 254.0
A2 = ( 0.800 + 3.700 ) X 2 X 6.350 = 57.2
A3 = 6.000 X 2.250 = 13.5
A4 = 15.000 X 6.350 = 953
P
A5 = 3.200 X 2 X 5.500 = 352
A6 =— 1/2 X ( 0.500 + 2.925 ) X 1.400

X 2 & = -4.8
AT = 16.800 X 2 X 5.500 = 184.8
A8 = 6.000 X 5.500 = 33.0

At 668.2 H#m2 668 fHm2
(5) URL < SOREE IR L H=30m w=40kN/m2

V1 = 2.700 X 3.700 X 5.000 X 8 &Y = 399.6
V2 = 2.400 X 3.700 X 5.000 = 44.4
TERRBH 11T 3
V3 =— x/4 X 1.850 X 1.850 X 5.000 X 8 f&§ff= -107.5
V4 =— gm/4 X 1.650 X 1.650 X 5.000 = -10.7

Gk 325.8 “Zem3 326

Het
&




W K Fil PAGE 28

FaBI - AHBI i = ¥ &
(6) FEpEfa RC-40 it L= t=200mm
BE R
Al = 3.200 X 7.800 = 24.96
A2 = ( 16.900 X 15.200 — 2.900 X 3.700 ) = 246.15
Gt 271.11 m2 271.1 m2
ve)
= 271.11 X 0.200 = 54.22 m3 54.2 m3
(M HLarzV—*k  ock=18N/mm2 Jii T t=100mm
BE R
A= 271. 11 = 271.11 m2 271.1 m2
ay7 JY—Fh
V= 271.11 X 0.100 = 27.11 m3 27.1 m3
Tl
= ( 20.100 + 15.200 ) X 2 X 0.100 = 7.06 m2 7.1 m2
(8) HHuAs TEHE t=20mm
A = 6.800 X 4.360 — 6.000 X 3.960 = 5.89 m2 5.9 m2
(9) 1EAKHR = AakAkb (MR
L = 6.400 + 4.160 X 2 = 14.72 n 14.7 m
(10) 7L ¥+ X hRIK| 7000Xx1000 T-2/4
N = = 1 K 1 K
1) Zv—Fo 7 1500 X 1000
N = = 1 K 1 K
(12) HEH 300X 300X 10X 15 L=7000
N = = 1 K 1 K
(13) & HEE L=6.000m
N = = -V IRV
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EK

PAGE

FaRBI - AHBI i = ¥ &

1) vz U—%h o ck=24N/mm2
JEERR
V1 = . 800 . 800 1. 100 5.98
V2 = .900 . 800 0. 400 16. 05
S
V2 = .900 . 400 2.860 X 2 fHAT 13.50
rBE
V3 = .900 . 400 2. 860 6.75
TERR
V4 = . 900 . 800 0. 400 16. 05
TR
V5 = . 300 . 800 0. 840 1.71

&t 60.04 m3 60.0 m3

(2) T — AT
JEERR AN
Al = 0. 800 6.800 ) X 2 X 1.100 16.72
A2 = 5. 900 2 4+ 6.800 ) X 0.400 7.44
S
A3 = 5. 900 2.860 X 4 fHPT 67. 50
A4 = 0. 400 2.860 X 2 T 2.29
B
A5 = 5. 900 2.860 X 2 fHPT 33.75
A6 = 0. 400 2.860 X 2 T 2.29
TERR T i
AT = 5. 900 2.800 X 2 fHPT 33.04
TERRA M
A8 = 5. 900 2 4+ 6.800 ) X 0.400 7.44
A9 = 6. 000 0. 400 2.40
T8
Al0 = 0. 300 2+ 6.800 ) X 0.840 6. 22
All = 6. 000 0. 840 5. 04

Gk 184.13 m2 184.1 m2

32



K PAGE 33
R - A0 B =Y B &
(3) A SD345
BmEERLY
D13 W= 1797 kg
( D13 1797 kg 1797 kg
Dl6 W= 838 kg
D19 W= 955 kg
D22 W= 813 kg
D25 W= 0 kg
ZW= 2606 kg
(' D16~D25 2606 kg 2606 kg
D29 W= 0 kg
D32 W= 0 kg
YW= 0 kg
( D29~D32 0 kg 0 kg




§7J<Pt§ PAGE 34

TR - FH5BI =1 =Y ¥ &
(4) R%HT HAE Y H=<30m
S
Al = 5.900 X 2 X 3.660 = 43.2
A2 = 6.800 X 3.660 = 249
A3 = 6.000 X 4.100 = 24.6
Gt 92.7 HHm2 93 HHm2
(5) ZERT NAT R =R T H<4m w=40kN/m2
V1 = 5.900 X 2.800 X 2.860 X 2 fHpT = 94.5
Gk 94.5 “Z%m3 95  ZZm3
(6) Rt RC-40 it L= t=200mm
B R
A = 5.100 X 7.000 = 3570 m2 35.7 m2
e
= 35.70 X 0.200 = 7.4 m3 7.1 m3

(7) HLavrzy—r o ck=18N/mm2 i L5 £=100mm
o
A= 5.100 X 7.000 = 35.70  m2 35.7 m2
a7 JY—k
V= 35.70 X 0.100 = 3.57 m3 3.6 m3
e

A= 5.100 X 2 X 0.100 = 1.02 m2 1.0 m2
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